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BRHRABRIZHE T HBMEHR

FriEh : R FH1-17-27

==}

AEHRR

ST25EE
— e BIEME (Ao —N)LhER) N
HI%E B - K% B 5E Hh 2 Som =T o BIE 2R -
Ot dlER (1) — 0.05 — PA-1000
2/2(R)EN @735>aF — 0.05 — PA-1000
R@F RNY & — 0.05 — PA-1000
Oghith iy Ep (L) — 0.04 — PA-1000
8/4(K)EEN @73>aF — 0.04 — PA-1000
R@F RYEFik — 0.05 — PA-1000
SRR 314
P I A AR (RATAY—AVEEE) | e e
5cm 50cm 100cm
Ot dER (1) — 0.06 — PA-1000
2/3(A)Bn @7Z>aTF — 0.05 — PA-1000
R@F RNYEftia — 0.05 — PA-1000
Ot diER (1) — 0.04 — PA-1000
8/1(RK) BN @735>3aF — 0.04 — PA-1000
@I RNYEfHE — 0.05 — PA-1000
2/9 (7528)



BRHRABRIZHE T HBMEHR

FriEh : R FH1-17-27

==}

AEHRR

L 304EfE
AER X A AERATEZNEER) ] g s
5cm 50c¢cm 100¢cm
Ot dlER (1) — 0.08 — PA-1000
2/1(&) BN @735>aF — 0.05 — PA-1000
R@F RNY & — 0.05 — PA-1000
Oghith iy Ep (L) — 0.05 — PA-1000
8/2(RK)EN @735>3aF — 0.04 — PA-1000
R@F RYEFik — 0.04 — PA-1000
SRR 295
AER K A ARRvAIE—ZNEER) ] s %
5cm 50c¢m 100cm
Ot diER (1) — 0.05 — PA-1000
2/5(R)EN @735>3aF — 0.04 — PA-1000
@I RNYEfHE — 0.05 — PA-1000
Ot dlER (1) — 0.04 — PA-1000
8/2(K)EY @73>3aF — 0.04 — PA-1000
R@F RNYEfHia — 0.05 — PA-1000
3/9 (7828)



BRHRABRIZHE T HBMEHR

FriEh : R FH1-17-27

==}

AEHRR

Rk 284E
i N BIEME (Ao —N)LhER) N
HI%E B - K% B 5E Hh 2 Som =T o BIE 2R -
Ot dlER (1) — 0.09 — PA-1000
2/3(&)BEN @735>aF — 0.06 — PA-1000
R@F RNY & — 0.05 — PA-1000
Oghith iy Ep (L) — 0.04 — PA-1000
8/2(R)EN @735>3aF — 0.05 — PA-1000
R@F RYEFik — 0.06 — PA-1000
FRR274E
P I A AR (RATAY—AVEEE) | e e
5¢m 50c¢m 100c¢m
Ot dER (1) — 0.06 — PA-1000
2/2(R) BN @7Z>aTF — 0.06 — PA-1000
R@F RNYEftia — 0.07 — PA-1000
Ot diER (1) — 0.05 — PA-1000
8/4(R)EN @735>3aF — 0.06 — PA-1000
@I RNYEfHE — 0.06 — PA-1000
4/9 (7528)
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Rk 264E
i N BIEME (Ao —N)LhER) N
HI%E B - K% B 5E Hh 2 Som =T o BIE 2R -
Ot dlER (1) — 0.11 — PA-1000
2/3(N)EN @735>aF — 0.06 — PA-1000
R@F RNY & — 0.06 — PA-1000
Oghith iy Ep (L) — 0.07 — PA-1000
11/5(K)£Y @73>aF — 0.06 — PA-1000
R@F RYEFik — 0.05 — PA-1000
Ot dER (1) — 0.04 — PA-1000
8/4(A)Eh @7Z>aTF — 0.05 — PA-1000
R@F RNYEfia — 0.07 — PA-1000
Oghith iy Ep (L) — 0.05 — PA-1000
5/1(K)EN @735>3aF — 0.06 — PA-1000
@I RNYEfHE — 0.07 — PA-1000
5/9 (7528)
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AEHRR

SR 254 B
A% A KR AR AERECAIR BT | ey s
5cm 50c¢m 100cm
Ot dER (1) — 0.06 — PA-1000
3/10(A) Bh @75>aTF — 0.06 — PA-1000
QF RYE A — 0.13 — PA-1000
X Ot FER (L) — 0.06 — PA-1000
qzﬁk%ﬁi @73>aF — 0.14 — PA-1000
1./14(K) BEh
R@F RNYEfia — 0.13 — PA-1000
Ot dER (1) — 0.06 — PA-1000
11.711(R) 2Y @73>aF — 0.08 — PA-1000
R@F RNY & — 0.16 — PA-1000
Ot dER (1) — 0.06 — PA-1000
@75>aTF — 0.07 — PA-1000
Q@F RYE{Fik — 0.09 — PA-1000
Bl E — 013 — PA-1000 EGRFBIE (REFRETFIF D ATEEIE D B S5 AF)
9./10(k) EBh BIE1atEE — 0.10 — PA-1000 ”
O~ F — 012 — PA-1000 ”
O~ F — 012 — PA-1000 ”
ENF — 011 — PA-1000 ”
BN F — 013 — PA-1000 ”
Ot FER (L) — 0.06 — PA-1000
779(K) EBLh @73>aF — 0.08 — PA-1000
Q@F RYE{Fik — 0.13 — PA-1000
Ot FER (L) — 0.05 — PA-1000
5.22(K) BEh @73>aF — 0.07 — PA-1000
@F RYE{Fik — 0.13 — PA-1000
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FriEh : R FH1-17-27

SAIEHER (FR23~24FE)

SERE 2445
AR A5 A AR (RATAY—AVEEER) | s =
5cm 50c¢m 100cm
Ot dER (1) — 0. 07 — PA-1000
3/11(R) HEh @7Z>aTF — 0. 09 — PA-1000
QI NYEfA — 0.14 — PA-1000
Ot dER (1) — 0.15 — PA-1000
2/14(K) HEh @75>aTF — 0.14 — PA-1000
QF NYE R — 0.17 — PA-1000
X Ot dER (1) — 0.12 — PA-1000
1/£?§f§’¢ﬂ§n @75>aTF — 0. 10 — PA-1000
RF RNYE R — 0.16 — PA-1000
Ot dER (1) — 0. 11 — PA-1000
12711(K) Bh @75>aTF — 0.19 — PA-1000
R®F NYE ik — 0.16 — PA-1000
Ot dER (1) — 0. 09 — PA-1000
11.715(K) Bh @75>aTF — 0. 09 — PA-1000
RQF NYEftiE — 0.15 — PA-1000
Ot dER (1) — 0. 07 — PA-1000
10711(K) Bh @75>aTF — 0. 08 — PA-1000
RQF NYE iR — 0.16 — PA-1000
7/9 (7528)



BHRAEICEITOMATHRE

FriEh : R FH1-17-27

=1

AEHRR

SERE 2445
AER- MR i AR AR ANEBR) | s %
5cm 50c¢m 100cm
Ot dER (1) — 0. 07 — PA-1000
9.710(A) HEh @7Z>aTF — 0.10 — PA-1000
QF NYEfA — 0. 11 — PA-1000
Ot dlER (1) — 0. 09 — PA-1000
8.78(k) BN @73>aF — 0.14 — PA-1000
RF RNYE R — 0.18 — PA-1000
Ot dER (1) — 0. 08 — PA-1000
7.710(K) HEh @75>aTF — 0. 10 — PA-1000
QF RNYE R — 0. 20 — PA-1000
Ot dER (1) — 0. 08 — PA-1000
6.714(K) ZEY @7Z>aF — 0. 11 — PA-1000
RQF NYEftiE — 0.18 — PA-1000
Ot dER (1) — 0. 09 — PA-1000
5/16(K) EEh @7Z>aF — 0. 23 — PA-1000
RQF NYEftiE — 0. 20 — PA-1000
Ot dlER (1) — 0. 09 — PA-1000
4/19(K) £Y @7Z>aF — 0. 10 — PA-1000
QF NYEtiE — 0. 09 — PA-1000
8/9 (7528)



BHRAEICEITOMATHRE

FriEh : R FH1-17-27
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AEHRR

ERE234E
e - N AIEE(RIIa—XN)LhER ——
AR R AR EREAIB MBS | s %
5cm 50cm 100cm
OEh ISR (1) — 0. 10 — PA-1000
323(&) £Y @752aTF — 0. 22 — PA-1000
QT RYE i — 0. 22 — PA-1000
O#h SR (1) — 0. 09 0. 10 PA-1000
2/79(K) BEh @75>aTF — 0. 21 — PA-1000
QFRYE — 0. 22 — PA-1000
- O# ISR (1) — 0. 11 0.12 PA-1000
1/1:'7:&;@5%“ @75>aTF — 0. 23 — PA-1000
Q@FRYE — 0. 10 — PA-1000
12716(%€) Bh i ER (£) — 0. 10 0. 11 PA-1000
11.716(/K) Bh Eh i ER (£) — 0. 24 0. 20 PA-1000
EihehiER (1) — 0. 11 0.12 PA-1000
- &7k ¥y — 0. 23 — PA-1000
10724 £l
(A / HE A 7 — 0. 22 — PA-1000
KERAZHEKE — 0. 21 — PA-1000
- &Kt — 0. 25 — PA-1000
9/2;(52§¢§L) HEIA F — 0. 23 — PA-1000
IKERAIGHEKE — 0. 22 — PA-1000
9/9 (7828)



